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e Please check that this question paper contains 11 printed pages.
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the answer-book during this period.
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(Ureft G=ar)
POLITICAL SCIENCE

(Punjabi Version)

HHT HIHT : 3 W2 YI& #d : 100
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(vi) YHE HEAT 21 HBI939 w3 yAS J | §33 »ust 8§39
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(vii) YHE HimT 22 - 27 39 J9 fod YHS & 7d € J | &gt g I3

foq yrs € §°39 150 HEe 3 @49 aJT JeT grteT |
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3. 39l HigweT (HAfgST) Gud Baefes fo=n € wHI T MgHs
ZAG | 1
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HA< HoH 9 39
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&8 fa< 20 H ? HUHS 9 | 4
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AIad o eH®T J9s & Yfafewr 3 g9 wiHg Uer I w3 I° <
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J3 3W AEs § AeH <<t I6 w3 B9 AeEw feg I 3 76 wivss
It JeugHT TS AYId AggeHT T HaaT a8 ST I8 2
it Sfir I fa 78 wieBs A3t I Afed Har @ sHfEeT g
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Ffed a96 © Bt €37 fufenr I | »idflar w3 39 et 97 &
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